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1. ROMICEZX. (SHes558, A1 7258, BH257208, CHhdsr)
(1)  AABC =20cm? , AACD = 12cm? (2)  APDA =12cm? , APAB =9cm? , ABCD = 36 ¢cm?
THhsr %, BP:PD %2k k. ThseE, AP: PC 2Rk k.
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(3)  AABC 2°®% b, AADE = 8cm? 4 EHEABCD 2% b, APEA =2.7cm? |
ADBE = 16cm? , AEBC = 36 cm? APAB = 4.5cm? , ACDE = 4.8 cm?
THsr %, DP:PC %2R L. ThH3r %, PQ:QD R X.
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2. ROMIIEZ XK. (SHk1, AM17735%, B#K2730%, CHlkan)

(1)  AABD =60cm? , ABCD = 45 cm? (2) AACD =24cm? , APAB = 16cm? , APBC = 26 cm?
ThHbE %, AP:PC 2K k. ThHsr %, DP:PB 2K k.
A A D
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B C B C
(3) AABC 235 b, AADE = 20cm? (4) THED 9.9cm? OEHE ABCD 235 b,
ADBC = 105c¢m? , ACED = 30cm? APAB = 1.35cm? , AQCD = 1.1cm?
THsr %=, BP:PE 2K X. THsE %, PR:RQ 2K k.
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1.

Ret7R b+ FEEAF WO -@EE ¥8 J0RDE BEE 01 BREEREH

ROFNTEZ XK.

(1)  AABC =20cm? , AACD = 12cm?
THsE %, BP:PD 2K X.

BP:PD = AABC : AACD
= 20cm? : 12cm?
= 5 : 3

(3) AABC 3% H, AADE = 8cm?
ADBE = 16cm? , AEBC = 36 cm?
THsr %, DP:PC 2K XK.

4

36 cm
B C
DP:PC = ADBE : AEBC
= 16cm? : 36cm?
= 4 9

(SHssf, A1 258, B2 208, C#k497)

* JOXE
Bolk = mEfELE
a:b = S:T

(2) APDA =12cm? , APAB =9cm? , ABCD = 36 cm?
THs L%, AP :PC 2K X.

D
A
P
B C
AP:PC = AABD : ABCD
= (124+9)cm? : 36cm?
7 : 12

(4) EHE ABCD 2’5 b, APEA =2.7cm? |
APAB = 4.5cm? , ACDE = 4.8 cm?
ThsL%E PQ:QD R X.

4.8 cm?
Hem

B C

* BfOHLIEIEEENELL
B ABCE ([ZEH$ % ¥, APAB = APCE

£oT,

PQ: QD = APCE : ACDE
= 45cm? : 4.8cm?
= 15 : 16
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2. RXORBICEZ X.

(1)  AABD =60cm? , ABCD = 45 cm?
ThHbE %, AP:PC 2K k.

A

AP:PC = AABD : ABCD
= 60cm? : 45cm?
= 4 3

(3)  AABC 2% b, AADE = 20cm? |
ADBC = 105cm? , ACED = 30 cm?
THbr % BP:PE 2K k.

A
D E
P
105 cm?
B C
BP:PE = ADBE : AEBC
= 105cm? : 30cm?
7 2

(SH15, Ak15335%, BR27 308, C#kds)

(2) AACD =24cm? , APAB = 16cm? , APBC = 26 cm?

THBr % DP:PB 2RkdD k.

C
DP:PB = AACD : AABC
= 24cm?® : (16 +26)cm?
4 : 7

(4)  [EFEA 9.9cm? DEFE ABCD 23dH D,
APAB = 1.35cm? , AQCD = 1.1cm?
TH5E %, PR:RQ =k k.

A E D
P l.1c
.35cm R Q
B F C

* a0 bFEITEENFL L

B¢ ABFE IZH#EH T % &, APAB = APFE
B¢ EFCD IZ#EA 3 % &, AQCD = AQEF
Lo T,

PR:RQ = APFE : AQEF
= 1.35cm? : 1.1cm?2
= 27 : 22
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